Cw 3.3.3 Name

Real-Life Si ion 1:
Marty saves $10 a week. In 8 weeks he has $92.

Independent Variable (x): 4% of (yeelk<

Dependent Variable (y): § soved

Slope/Rate of Change:  §§ /O/Wee[(,

Write an ordered pair (x, y) from the situation above
weeke ¥ (%, 9Q)

How much money did Marty start with (y-intercept)? | [‘!Qd
0= 4 q2-%0= L 3‘:&\&&“&
Write an equation to represent the situation. NS

\&ZW\X*\O -5 %:\DX"'\,L

Real-Life Si ion 3:
Lori started a diet in which she was lost 2 pounds per week.
On the 12th week of her diet she weighed 185 pounds.

Independent Variable (x): 2% o0& puelld=
Dependent Variable (y): == oQ po(,md,s
Slope/Rate of Change: -7 __2 b
= S k
[ [wee
Write an ordered pair (x, y) from the situation above.
(werks Younde  (12,19D

How much did Lori weigh at the start of her diet (y-interCfLrt)%O]

\(-\=~2 %0 -1 = \Hot

Write an equation to represent the situation. SMWQ"%M'LMWS

W= e 100

Real-Life Si ion 2:
The temperature is increasing 3° per hour. 4 hours
after you wake up the temperature is 10°.

Independent Variable (x): = oF hou.(s

Dependent Variable (y): ‘empecoture
3 / hour

Write an ordered pair (x, y) from the situation above.

WS 4emP ('L{\lo\

What was the temperature when you woke up (y-intercept)?
D=\ [D-1= -,
NS A, S

Write &W@qua?t’lon to represent the situation.

W= s~ L

Slope/Rate of Change: é
l

Real-Life Si ion 4:
When June babysits he makes $5 an hour.
After babysitting the Smith's for 4 hours he has $37.

i » B
What is the slope? //

Explain what it means in context of the problem.

He makes, X% per hous

Write an ordered pair from the situation above.

_ (4,37
Explain what it means if context of the problem.
Babysitting 4 hours gives hm §37.
What is the y-intercept?
va=qhH B7-20=[7
Explain what it means in context of the problem.
N Starved Wit %/7.
Write an equation to represent the situation. < SX 417



